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0l) a)

b)

All Sections are compulsory
Section - A

Read the following passage and answer the questions that follow. Q)

Soapy was unsuccessful at getting himself arrested. As a homeless, jobless drifter, he
wondered how he would survive the harsh winter. He knew he would get food and

shelter in jail, if only he could manage to get caught while committing a petty crime.

Suddenly he noticed a well-dressed man lighting a cigar at a cigar store. His silk
umbrella had been set by the door on entering. Soapy stepped inside the store, took
the umbrella and sauntered off with it slowly. The man asked for his

umbrella but Soapy asked him to call a cop-who was standing at the corner.

1)  What had Soapy been unsuccessful at?

i)  Why did Soapy want to get arrested?

iii)  What was the well-dressed man doing?

iv)  Where did the man put the umbrella?

v)  Soapy drew the attention of the umbrella owner to a police man because ......
1)  he wanted to run away.
2)  he wanted to keep the umbrella.

3) he wanted to get arrested.
Read the passage and answer the questions. Q)

Knowledge has always been the prime mover of prosperity and power. The
acquisition of knowledge has therefore been the thrust area throughout the world.
Additionally in India, there has been a culture of sharing it, not only through the



tradition of guru- shishya but also by its spread to neighbouring countries through
travellers who came to Nalanda and other universities drawn by their reputation as
centres of learning. India is endowed with many advantages and competencies but

these are scattered in isolated pockets and the awareness of these is inadequate.

1)  From which lesson is this passage taken?
i)  Who is the author of this?

iii)  What is the main mover of prosperity?
iv) How is knowledge shared in India?

v)  What is the problem with India’s advantages and competencies?

02) Answer any Two of the following in not more than 100 words each. 2x4=38)
a)  Why did Gandhi feel that he had to simplify his life?
b) How does ‘Man’s Peril’ bring out Russell’s thinking about nuclear weapons?
c)  What are the good qualities of writing according to L.A. Hill?
d)  Bring out the central theme of ‘The Drunkard’.
03) Answer any One of the following in about 200 words. 7
a) How according to Kalam can a knowledge society be built?
b) Comment on Orwel’s ‘Shooting an elephant’.
c)  What are the main ideas expressed in ‘Pecuniary Independence’.
Section - B
04) a) Answer any ONE in not more than 100 words. “4)
i)  Bring out the theme of love in ‘The Last Ride Together’.
i1)  Discuss Shelley’s ideas as expressed in ‘Ode to the West Wind’.
ii1)  Justify the title ‘Mending Wall’.
b)  Explain any ONE of the following: “)

i)  Heis all pine and I am apple orchard.
ii)  This is my son, mine own Telemachns.

ii)) We slowly drove — He knew no haste.



05)

006)

07)

08)

9)

Answer any One of the following in about 200 words. (6)
a)  Discuss the theme of relationship in ‘Mending Wall’.
b) Bring out Keats’ love for nature.

c) Justify the title ‘The Last Ride Together’.

Section — C

Answer any One of the following in about 200 words. 6)
a) Discuss ‘The Lottery Ticket’ as a study of human psychology?
b) Consider ‘Subha’ as a dramatization of the basic need for love and friendship.

c) Comment on the central theme of ‘Ha’penny’.

Section - D

Read the following passage and summarize it. S)

Freedom has given us a new status and new opportunities. But it also implies that we
should discard selfishness, laziness and narrowness of outlook. Our freedom suggests toil
and creation of new values. We should so discipline ourselves as to be able to
discharge our new responsibilities. We should put into action our full capacity. Work
unceasing work should be our watch-word. Work is wealth and service is happiness. The
greatest crime in India today is idleness. Each one should work honestly, this is the

fundamental law of progress. Next to honest work is the habit of respecting other people’s

feelings. The law of love is a practical code of life.

Write an essay on one of the following: Q)
a) My ambition.
b) Women empowerment.

c) Education.

Answer any one of the following: S)
a)  Write a report on ‘The Republic Day’ programme in your college.

b)  Write a report on a musical concert held in your city.



Q10) Use four of these idioms and phrases in sentences of your own. Q)

a) look upto

b)  bed of roses

c) crocodile tears

d) hand in glove

¢) hand to mouth

f)  atarm’s length

g) close-fisted

h)  in a nutshell

Q11) Answer any ONE of the following: 5)

a)  Write a dialogue between two friends on the problem of unemployment.
b)  Write a letter to your friend congratulating him for topping his college.
c) Write a letter to the commissioner about the problem of bad roads.
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a)

b)

DY FOE OO DY DEE3 5708 S¥H0
BYS DO I S0 $0BFY0e020S DB D5
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®

-239¢50

BEHOS? H8,B0g BOOB B0k
BoB08 $56500 80505 5 S.

gRSE HOIPB DN TILEISD.
9EDBTSB0( H5700,050030830( 2383308 !



-830¢30

a) B®EBBoWe WEHODRS D!

b) T ES BB oS,

C) DSOS HOGE aa&%éémg :
d) SEB0EBO DD e-8 3.

03) 808 DS® HB 3350 HI0D 25D H&IES0 TPaHO. 2x7=14)
9-239¢50

a)  DHBEOE BOG DO TOLBD DELI0DI D& HIBOOTHOSED.
b) 855 ¢)55e85008 08,8750 RBO SO0,

-830¢50

a) ©EENS® DA WOBL,ETR) DBOOTSO.
b) &8 5= DA d5O0WOL.

04) 808 0% HB g3t50 HI0& 20BN DHTESO Tp0HO. 2x6=12)
9-239¢50

a)  B008)REPBISO DBCEWDS 0L D RS KITSEen HBSDOTITOH.
b)  CeaDe S0 T3 t)TTe, WS, WFDS, BTV IO FeoHOG.

-830¢50

a) LSO BG,E0D Foessen 530850 DBBO0TOR.
b) 00 SOBSED BH 530 ToHO.

05) 8o& 06° Fo&oe38 DTG T32AHOG. 2x6=12)
a) Bo.

b) DDHRSBS0CD).
C) dotsoeex.
d) ogss.



06) 808 50 28w (5708 2, V0 T2OHOk.

a)
b)
c)

Q7) a)

b)

OIS DER, I DG Hoss.

DB DS 5SS gRN® N,
DBEEB.

i)

ii)

i)

ii)

808 D55 MRS 583 DR R, TOLKID (IO OHBD HE2,S0E.

03¢5 520850 BBV SIS FIROHOFO DO B,B0

(B)
808 TS’ 2EwPDE FRESEIOT OFET BYOk.
1) Bocso.
2) Bo8a.
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Q1) Answer any two questions: [2x10=20]
: I forea |
a) Write the brief story of Nagananda.

02)

03)

b)

c)

d)

b)

AT, ST e forad |

Explain the dramatic skill of Bhasa with illustrations
& Eqeades Gy FEwRd |

Sketch the character of Baladeva.

TACTH UTARE HEA |

Write the story of “Sri Krishnasya Mytri

“sftepoorey T 3fa aTeayT AW fored |

How did viswamitra become Brahmarshi? [1x10=10]
foafie: oy s ayg?
YT

Write an essay introducing “Acharya Sri Ramachandradi”
AN 2t THEgehd: IR=—TcHs e foaa |

Explain any two of the following with refer to context. [2x3=06]

TeaTi TEey AT |

a) Fe a9 & saept waf=a |
b) FERTETE! TE: |

¢) T EHUTHA J8TH |

d) ¥ g3: & 9 ggQ: |

e) T W@ AUREaHR |

) fofimes oo o fosheamm |
g) o Prer‘Tm wfiseny |

h) o hdeaamger: o I |




04)

05)

006)

07)

Write short notes on any two of the following
LRI F*@E%Ff forEa |

a) YR |

b) U=

¢) T

d) EDLCH

Define and illustrate any two alankaras
21 3T T AEoierEl forad |

a) G&II=:

b) 3@'@:

¢) dIRY

d) 371

Write the forms of any four of the following sabdas.

=qunt fdsefawiey Eurfr foraa |
a) & (V1)

b) ferga (fgeftam)

¢) g - &l ()

d) M - (FE)

e) U - (T==r)

f) &G - (U

g) = - (fgeftam)

h) wTerd - (STHT)

[2x4=8§]

[2x3=6]

[4x2=8]

Write the forms of any four of the following adding the given termination’s [4 x 1 =4]

FqUT AT At forad |
a) ¥ (Faq)

b) 1 (M)

¢) T (Feq)

d) 31 ()

e) o ()

f) 93 (T4

g) & (=)

h) ™ (T9)



08)  Translate any four sentences in to Telugu or English. [4%x2=8]
FqUl AR foEd |
a) d: Jeidl: WA |
b) FAT TSI qAT I |
¢) CFHIHE ST
d) gcaHd Sd |
e) Wi S8 T | |
f) it sva femm |
g) gt @t era:)
h) eeihd A AR |

SISIS
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SECTION - A
Q1) TAfaRed T =1 gy =men i | (18)

a) i)

c) i)

Teh WG Tsh A, Teh 3T foamd |

i afctd TATY 54, =deh qasie™ ||
YT

«Tfgr <R 5S4 1, @Y 1 dfoR 31|

STET T 3T g3, Hal h q@T |1

hept 319 W W whadt 7 b @

HOR T& AT & o6 T el & ¢

B Tehd &, T HIAT AT TEl & Hehdl ||

SR
91§ d HAd Y U e 1,
3R g Ga-gfee I shl 3R Sl |
@ ¥ @ 33 J9 I,

-9 foarar 9 = 9 |

I gH, o ST faga ofieh T et T 31Tedieh |

SH-qH-U g7 q9 T2, ARae qYia & 33} 372 |
YT

JT-Teeh, JT-HEATTH,

-G, ¢ R |

'ﬂ"'[—ﬁ'ﬁﬁﬁ'[, @_qﬁ @1%7

M- deb T bl THERR |



02)

03)

04)

05)

006)

fertlt usp hiarar =1 o foifa | (10)

a) Toe |
b) oS T IR-IAT T IU |

¢) el T UTETAM |

Toreft wp i w1 uim &S | (10)
i) qoEicH |
j) mur fag foret |

k) SR 991G |

et wp fomm w fey fafau | (10)
e) JE&dshlcd |

f) oG |

g) TAFEIT-JEyul |

h) TE-9T |

i) e |

fortlt wsp Tfeca foma v faey feafaw | (10)
a) 3TTfeeprar aifeurfaa o g sifere |

b) FE Atk N FEH S 1 TR T |

¢) Tmufk arr 3K qerfier =1 afe dfv |

d) e 1 foehmE TR IR JETE 1 9= € |

Freferiea ma @1 &<t # 31gamg i | (12)

On the bank of river Penna, there was a village called Perur. In Perur, there lived a poor
Brahmin. His wife was on Orthodox. They did not have any children. They lived in a
small hut. There was a lime tree behind the hut. It bore many fruits. The couple sold and
lived on the income. The tree was to them dear as a son.

SISIS
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SECTION — A (2 x 13=26)
Answer any two questions

Q1) Explain briefly about the Babylonians.
270 DODS DKV (g HBO0TIOG.

02) Explain briefly about invention of wheel and its role in industrialization.

xzsgm oBooéa_ eg&zq?peazﬁao 300X @aa@&ééeaoess [ LT) (ﬁooé& @aggaio DSO0TS08.

03) Describe briefly about effect of modern agriculture on environment.
808 55665330630 DSOS 6’30365569303.3 355500850 500508k,

04) What do you understand by “Bio-War”? Explain with suitable examples.

‘2855 -0H0EE0” BB ? B3 BEesRSHOSS DSOS

SECTION - B Bx4=12)
Answer any three questions

05) a) Paleolithic age.
DOA3FOOHE 0DH5ES0.

b) X-rays.
DESen.
c) DDT.

Co6se3.



006)

07)

d)

b)

d)

Radio.
3&335e.

Biogas.
BS5aeaD).

Gunpowder.
S5Decs8.

SECTION - C

Answer all questions

Who invented Calender?

B00858D DS BB ?

ICBM means
DRIDD 0T
Who invented steam engine

sDO odaog%@ D0 éaioﬁaagci)

What is the another name for Vitamin ‘C’?

DS D’ & $HOAT0E DS D7

Choose the correct word.
6839_3365 D080 HOOTI0b.

a)

Radio invented by

i)  Grahembell

il)  Marconi

iii)) Flemming

iv) Darwin

B&CI7 B30E2FHO DBBO
1) 52085

) 52690

iil)  3&vos

V) @od

Bx4=12)



b)

Which of the following is pesticide
i)  Methane

il)  Phosphorous

iil) Detergent

iv) DDT

808 TS° DO §RDOTTOES.
) &38

i)  egoed

ii)  &&goes

V) &a&e

Typhoid is caused by

i)  Female mosquito

il)  Plasmodium species
iii) Bacteria

iv)  Salmonella Typhi
B3Pa08 BRSO SR
1)  ess5s0

i) 3pAs,BaDO SDHen
iii)  engoote

V)  per3ep &9

08) Match the following:

a)
b)

c)
d)

a)
b)

c)
d)

Vitamin B
Methaemoglobinaemia
Scurvey

Silver Revolution

DS
Q0BBIGTDBR0DH
205 PS5

Egg

Vit-C

Berry Berry
Nitrates

gecy)
e0S-C
8686

389



(DBES21)

Total No. of Questions : 14] [Total No. of Pages : 03
B.A./B.Com./B.Sc./B.B.M./B.B.A./B.H.M. DEGREE EXAMINATION, MAY -2017

(Examination at the end of Second Year)
ENVIRONMENTAL STUDIES

Time : 3 Hours Maximum Marks : 100

SECTION - A (4 % 10=40)
Answer any four of the following
FEach question carries 10 marks

Q1) Define Environment and give an account on the structure of atmosphere.

D0BBEFY DBEIOL), WHTE0 ATV, DTR,LH500 BODHOL.

02) What are the uses of forest resources and give an account on the consequences of
deforestation.

®ed SSHO® O30, BDOITPHSVOI SOOIV HS DVPSIDD IO BLODH  DOEFOSTOI

BODNOG.

03) Explain in detail about the available water resources and their management practices.

9050270 HF DAE B SISOV SIOAKD 33063 DTETEID (5708 PSO0TOs.

04) Write the values of the biodiversity.

eﬁaﬁé&csa DB 5308 TPODHOE.

05) Explain the role of bio-geo chemical cycles in maintaining the equilibrium of ecosystem.

85O H3BQ 6553@?8@@‘5 DO, B5-813e-BpaNS SOOI Q3008 SPBD Esttaletnlele )

06) Enumerate sources, effects and control measures of air pollution.

300D 5oV, S0SERD, DI DAY DODOBEd HLBOODD (3708 B0D0s.



Q7) How can we manage solid waste?

z{;oesasac@s a’amo(ge;aﬁo e DBBIP0TIHIDD ?

08) Explain the following:

a) Urbanization.
b) Global climate change.

éo& 00830 IO

a) HEEBSSeaS.
b) Do DeweSSEs HIEY.

SECTION - B (3 x20=60)
Answer any three of the following

09) Write about the aims, objectives and scope of the environmental studies.

DB BEI;ODSO ANE), OFP 50, BFOTPD SOOIV WIS TOT BVHOL.

010) Describe uses of mineral resources and impact of mining on the environment.

OB HSEDO 0308 BBDSTDOO) SOOI (300 B&;BEO HOG DOHGEIOD (5 DFIPSHID
D&SO0TS0ls.

Q11) Explain in detail about conservation of bio-diversity with suitable examples.

BEBDS DOSZET DERTOOID DTS BEETSOS HBO0TTO.

Q12) Write the structure and functions of an ecosystem.

BISBED 35 G300, DDV SOOATD DTR,EVO (5708 TJADOE.

Q13) What are the various characteristics of population? Explain.

BT G300, OZEIEGND DAV ? HIO0TTO&.



Q14) Explain the following:

éo& 00830 IO

a)

b)

d)

Acid rains.

93553 aﬁo?qe)o.

Ozonelayer depletion.

E&EBS Dot 5355,

Disaster management.

DDBT DOVBOO DTSToeD.
@

Indoor pollution.
5)30° Se@08350.
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SECTION — A (8 x3=24)

Answer all the following questions
FEach question carries 3 marks

Q1) Find the -equations of the planes bisecting the angle between the planes
x+2y+2z-3=0, 3x+4y+12z+1=0 and specify the one which bisects the acute angle.

x+2y+2z-3=0,3x+4y+12z+1=0 Sosve £ % DB, POLED BOBVED BBOGR,
903058 DO ©HNESE DSV WOLED BOBWD OO ?

-1 y-3 z-2
4

02) Find the distance of point (3, 8, 2) from the line al measured parallel to

the plane 3x+2y—-2z+15=0.
x-1 y-3 z-2

(3, 8, 2) oo 0odk 2

B woe S55e550 3x+2y —2z+15=0 8008

0DTPOBBEOe BOOEE0HDD.

03) Show that the plane 2x-2y+z+12=0 touches the Sphere
x*+y> +2° —2x—4y+2z-3=0 and find the point of contact.
X4yt 427 —2x—4y+22-3=0 &% 2x—2y+z+12=0 S50 yBOWDD TIHD.

04) Find the equation to the right circular cylinder whose guiding curve is
X 4+y +2°=9, x—y+z=3.
PBOE BEHD X+’ +2°=9, x-y+2=3 m So oo HBHL WPDHL OHOBCHD
58506250600 |

05) Show that n/n=1.

nn=1 e srHod.



06) Every bounded sequence has the greatest and the least limit points.

DS HODTRHOEDTDS 50 0OATD BT OS5 DOV BVOLIPON.

07) Show that f(x)=1 !

f()=—
1-

has an ordinary discontinuity at x = 0.

7

1
% 2300108 x = 0 H5& JPpeSen DYPBHOB <SIH0.

e

08) Show that f(x)=xsin (%) ,x#0; f(x)=0,x=0 1s continuous but not derivable at

x=0.

f(x)=xsin(%),x¢0;f(x)=0,x=0 BB00aDBD 5 X = 0 HILODHD BHYHO BHB0D T

550 ODHO 50550.

Q9) a)

b)

SECTION - B (4 x 11% = 46)

Answer all questions

Each question carries 112 marks

A variable plane makes intercepts on the axes, the sum of whose squares is &, show
that the lows of the foot of the perpendicular from origin to the plane is

()cf2 +y7 +272) (x2 +y’ +22)2 =k,

28 5O BOBD OBV BOXL VOB POBEBVL SO BBHV A ©0B BPODOLHD
008 &8 BepO8 BDD LoD DO HEEHN (x’2 +y7 +z’2) (x2 +y*+2° )2 =k,
Show that the shortest distance between any two opposite edges of a tetrahedran
formed by the planes y+z=0,z+x=0,x+y=0 and x+y+z=a is %.
y+z=0,z+x=0,x+y=0 ooot X+y+z=a BoH0OE DEES SBW,PS

2a
DT WOTHO B B BIRBHD —= O TIPEYHL.

J6



010) a)

b)

0I11) a)

b)

Q12) a)

Find the centre and radius of the intersecting circle of the Sphere

X +y’ +2° +2x-2y—4z-19=0 and the plane x+2y+2z+7=0.

X+’ +22+2x-2y—-4z-19=0 6850 x+2y+2z+7=0 Sosn POES )
G500 BOE5E0, TG0 BeSOGP05®.

Find the limiting points of a Coaxial system of Spheres given by

X2 +y°+22=20x+30y—40z+29+ A (2x -3y +42)=0.
x*+y*+22=20x+30y—40z+29+ A (2x -3y +4z2)=0

DEOBBEBN DIPDOTW EVEFIGEB 958 I0IEHN SBIGHODD.

Find the equation to the right circular cone, whose vertex is origin, axis is
x=t,y=2t,z=3t and semivertical angle is 60°.

B850 53790 DOEI), SFHBD x=t,y=2t,z=3t oo é%g %6550 60° o o
©ORBEIO FOBID) DEOBGEIBDK BLIGHOHW.

Find the equation of the cylinder whose generators are parallel to the line

%:%:g and whose guiding curve is the ellipse x*+2)°=1,z=3.

258 Swen %z%: St OsmosssnTe  Hod  x +2y°=1,z=3

[SSERN

égase)gm DIOIDE HEHDMR (5O DI 08OBBE500:850 BB0G2E05D.

State and prove Sandwich theorem or squeeze theorem.

F0EHS 85 §<o& 5& DWOTRY DBHDOD DEFDOBOE.

1

1 .
Prove that the sequence {s,} where s, =——+ t———— + is
n+l n+2 n+n
convergent.
1 1
s, =——+ t———— + o 50 {5, } ©B05500 @0OBOED TSPHOE.
n+l n+2 n+n

State and prove Absolute Maximum — Minimum theorem.

508 - BOY ?oogom@ DIDOD DB3oS0b.

Show that the function f defined by f(x)=x", is uniformly continuous in
[-2,2].

f(X)=x" 85 pt5;DoDedS Habosm [~2,2] &F HERD @DYFOTe S0V
SPHOG.

State and prove Lagrange’s mean-value theorem.



S0 K050 BT DTWROTER) DSTVOD DBF0S0k.
%

ii)  Evaluate '[ : (sec4 x—tan® x) dx.
0

A
(sec4 x—tan’ x) dx &5 FQoTos.
0

b) 1) If f:[a,b]—>R is Monotonic on [a, b] then fis integrable on [a, b].
S Bdbowo [a, b] &° DBDHo @00 [a, b] o HHRSdoDO.

1sin zrx

2
dx<—.

1
11 Prove that —<
) T I 01+ x° T

2
—dx<— o WPHOk.
01+x T

1 1sin rx
_SI
s



(DSTEL21)

Total No. of Questions : 05] [Total No. of Pages : 02
B.A. DEGREE EXAMINATION, MAY - 2017

(Examination at the end of Second Year)
SPECIAL TELUGU - 11
Sahitya Charitra Natakamu

Time : 3 Hours Maximum Marks : 70

Q1) a)  SrgFoh oD GoDS AP0 (578 TV (14)
(8e)
b)  gromodssRs sHBaHO .

02) a) BS55D oS VT BOYED. (14)

(S)

b) &85 5D S3EH0R DSOS,

03) a) 80& DS BoGBOE3B PR TOHOE. @)
1) 000,08 DESS.

i)  egsat;.
1) s
V)  Soego.
b) s 808 320° Bo&0e3d ©PTLRD T2OHOG. )
1) SO BIDGS.
1)  Sso5ns Sose 59.
111) SlelelllollnbNe ol

V)  Bsceomen.

04) a) DB DS T FPFE0 PG FPOHOID. (14)

(S)

b) 25800 Sosns 9S5O0



05) a)

b)

808 TDS° BoG0e3d DO DB G0 TPAHO.

1) DO EOSBESIBOD &0 B
1) &8 oo gD
11l)  Sore aHBENSO SO QI S0O8 59058,

V) 85585, SBEDOTHEDID. 200000 Sa550065 5c!
88 808 20 Bo&oE3RD VEETBEI0TE HSOOTTO.

1) DO DOGID.

(7

(7
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B.A. DEGREE EXAMINATION, MAY - 2017
(Examination at the end of Second Year)
History - 11
Indian History & Cul. from 1526 - 1964 AD

Time : 3 Hours Maximum Marks : 70
SECTION — A
Answer any two of the following 2x8=16)
Q1) Describe Humayun’s political condition.

02)

03)

04)

05)

006)

07)

08)

9)

FosSH0H5eS ceezdahD DORBD HSOOTHEW.

What are the causes for the down fall of Mughal dynasty?
B00¢5eR AT DoTRes; HDBDODE SeSERSNOT HSOOTIEV?

Describe Rajputs politics.
oS CemEoTPOH HBO0TIISD.

Explain development constitutional program.
02230, 0(5 5255850080 DHSOOTIED.

SECTION - B
Answer any three of the following (3x13=39)

Describe Peshwa Baji Rao.
DY, 2I0EBTEEHRD SOOTIIHD.

Describe impact of British in India.
2RBBB IS DES5p 81BHNB HBOOTOI.

Describe Mughal administration.
BA00C5eIP OV DOV TR N&IOOTIISD.

Describe Sardar Patel’s Integration of princely states.

0oRE $SEson HES B0S, Tg) DO HOFH (17°Q HSOOTL.

Explain Gandhiji’s non-co-operation movement.

720828 DISOH DTPEBEFS 54550650080 SO0TIESW.



010) Explain subsidiary alliance system.

Q11)

:&3556 RSreictle) o“acg@éo (‘i)ag @od)oaioo.

SECTION - C
Answer any three

1857 Revolt.
1857 SHS0023060.

Doctrine of lapse.

DBS DTROB.
Satya graha.
F0ER;(3530500.

Dandi March.
508 QTS

Lost hasting.

.

P00 3P OS.
e e

Lord Curzon.
o) BEES.
€9

3x5=15)



